20144 Z7|eE SIPEFT Tot

=
gu:ﬂ:

o}st

1 2 3 4 5 6 7 8 9 10
ol |lo|lo|le |6l 6| o6
11 12 13 14 15 16 17 18 19 20

21 22 23 24 25 26 27 28 29 30

Ol EE

O =57 A (+) Aoy, 8578 (-) A3}
2) 257 A9 Sl AT 557 BR oE3, w57 Av ARE 9
(+)4dstz =y, 557 Be AAE 9ol (-)4dsl= did=.

(1) gt (2) ARkl w2} 3 AR,

(1) At 71A)
(2) 2ol FETE BUAE oliek2o] 7|3Bl=t] AMSE7] (Weolth)

(1) Aot UEFS 29 2 Bdle 54 @7] geelt.
(2) §AS 7183 &5 SR,

o)) % 2 &, %R

W ( Z=F )
() A Bafelojof 431 Yoz g4 4 gonw

(1) 3 )

ra

6,000 4,000 2,000 35
2!0](km)

(1) 74eEP} $Bo) 02 At At
(2) ACHED




